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; 387 A MR AR (BT 3 96 96 50 3 6.0
BT AR AR (1 850) ET4 7 7 3 1 33.3
{E%J%IE%EI RIKA 0
SRE AR R R AR A 4 1 1 0
" NI AR 0
T /s it 40 674 656 260 56 21.5
j; BRIAR 3 5 5 4 4 100.0
PRI A AR 49 44 30 9 30.0
RIZE A HE S AR ET4 1 1 1 1 100.0
HETE AR (AT - $5 7 - D - ) 23 50 50 A7 39 83.0
o [HARAT 70 66 17 5 29.4
L [simasB At 70 67 32 3 9.4
2 [ARAM R 18 48 A7 34 13 38.2
= |amAazBMER 41 40 26 5 19.2
; BT A I T AR 752 2 62 60 38 3 7.9
2 | 9 9 5 2 40.0
;f JE55 A ML A B (AT 3 81 81 46 3 6.5
$H36 7 A I AR (7 490) ET4 13 13 3 1 33.3
WM A A5 B SRAR ARA 0
SRE N R AR A 4 1 0
IR AR 0
/s it 80 500 483 283 88 31.1




S | R R HENE | BB | ZREK | ORER | NEEK | PR
BT 3 1 1 1 1| 100.0
R AR 6 29 27 24 5 20.8
IR T AR T 1 1 1 1| 1000
HETS AR (LA B - B - DR - H 1) 23 32 32 31 21 67.7
A A 72 71 21 5 23.8
A B 72 71 34 1 2.9
= [t " 35 33 20 2 10.0
g [ ARBMR 31 29 18 6 33.3
2 (Wi AR IEET AR T T A AR, 63 62 37 2 5.4
A [Ema 7 6 9 7 778
Jeit AR AR (W) 6 76 76 57 1 18
Jeit 7 ARG (B 50) T 7 7 6 0 0.0
T RIEE A B AR 0
D )R P4 0
. T2 MR AR 0
T o 7t 80 426 416 259 52 20.1
j; BRIEAR 8 13 13 8 8 100.0
R AR 11 148 138 91 23 25.3
IR T AR T 2 2 2 2| 100.0
HETS AR (LA B - B - DR - 1 1) 54 112 111 9% 72 75.0
A A 270 262 70 13 18.6
A B 270 264 112 9 8.0
| [masanr s 127 122 63 18 28.6
2 [ ARBMA 112 108 54 13 24.1
4 [Fsismr A7 oA h 234 229 120 13 10.8
AR 30 25 21 16 76.2
Jeit AR AR (V) 12 253 253 153 7 4.6
S A R AR () T 27 27 12 2 16.7
R AT R 0
D )R P4 2 1 0
T2 MRS AR 0
o 7t 200 1,600| 1,555 802 196 24.4
BT 154 410 407 924 223 99.6
RIS AR 106 | 2,237 2.162| 1,114 226 20.3
IR T K T4 25 25 16 16| 100.0
HETS AR (LA B - B - DR - 1 1) 930 | 2,226| 20218| 1,658| 1,385 83.5
A A 3837 | 3,743 885 149 16.8
A B 3837 | 3,768| 1,353 147 10.9
AT AR AM 1,463 | 1,405 539 148 25.1
2 | 2 [JHARBMAR L30T s T 1410 603 161 26.7
a | p [ ARIEET AT TR AR 3.191| 3.135| 1,606 168 10.5
AR 492 419 172 116 67.4
Sl AR (R0 143 | 2,766 | 2,766 1,305 54 4.1
Jtit 7 A MR (1) T4 434 434 117 25 21.4
VA A R A 4 4 4 1 25.0
D )R T4 21 19 12 9 75.0
2 )RR A K 1 1 0
& 7t 2,640 | 22,402 | 21,916| 9,658 | 2,828 29.3




